- T () TEERE LEH e
B4 30 THE IR el LR A T R RS fidk—ER (1) THEUR e S A
SaFeA11R (1) KEa—FR 22 12 3305 FE TR/ B R f b H TS
&1 Tl s B 2 — R 123230
[ fig 17 2% 3hL 4% 50 6% ThE 8{iL
1 4100m g #12 () 14.02 | BA 3c (D 1421 | JIlo OFE ) 14.93 | B BE (D 165012 | FaR % () 165.76 | WREE EHL O 16.13 | JR &KE 1) 17.08
142 (0. 0) 253 FEF JE P KH (L JHIR AT
1 4£100m IR % (1) 14.54 | K Efk (D 14.78 | B =5 (1) 14.99 | MW s (1) 15.64 | KE FH (1) 16.26 | KP %2 (1) 16.55 | 28k BE (1) 16.56 | i &5 (1) 17.70
2%f: (0. 8) HHIR S JEN] ARHH LAl il A H fEL—
1 4£100m R EIE (1) 14.09 | HE B () 14.76 | 8K @ (1) 16.61 | =AK EE () 15.76 | BEM BB (1) 16.05 | 4K AL (1) 16.12 BA R (1) 18.40
3L (+0.3) ot ARFET K H KH L — FEFE A
1 4£100m B Fxefk (1) 15.34 | @il EA& (1) 15.79 7f’é’“EE 3FE () 16.25 | AR BxFE (1) 16.30 [filH 222X (1) 16.42 | JII4 &E (1) 16.70
4%8: (+0. 8) ﬁ*llh )11 Hixb A ZEE XH JaEiN]
1 4£100m LR () 14.61 [EE o, (1) 1501 | FHEFER 1 15.10 | EE U Q) 15.36 | M) Ran (1) 16.43 | Pk FE# (1) 16.72 | hp 2 XA (1) 16.75
5%E: (+0. 1) E. JHIR AHH fE 1L ZAE L — XH
1 4£100m TN KME (1) 15.18 | JA EAAE (1) 15.23 |EPE 1F0A (1) 16.34 | BEF EZE (1) 15.89 | AH Rk (1) 17.73 | HEE =R 1) 18.47
6f: (+0. 1) =2 AN} KH B LAl ARBH
2 4E100m Bk &2 (20 13.30 | =@ HE (2) 13.51 e g (2 13.76 PR (2 14.00 | #5K EP (2 14.01 | &4 7T Hikk (@) 14.27
LA (-0.3) e HE R HITHHE LU KH i
2 4£100m HE B (2 13.77 [HEA R () 13.82 | KH A (2 13.84 | @R AR ) 14.10 | FA OEZE (2 1410 [ 2 bbb @) 14.35 | HiBY HiE (@ 14.48
241 (+0.9) TR HIXLEM )11 PALTIN AREH A H— REHE—
2 4£100m B DEp (2 14.21 | A BRIR (2 14.26 | B B (2) 14.26 | mE ME () 1450 | A BE Q) 14.83 | #/s wmE Q) 15.46
3 (+1.8) [N JEl] KH E%i s K H R
2 4£100m o Jh (2 14.18 | BREA Aifh () 14.47 | AW WZE (2 14.60 | HZE At (@ 14.81 | M@ FH @) 15.49 NPE D (2) 15.74
448 (+1.5) [Ty ol £E 1L KH ] AT H
2 4E100m A OFE (2 16.27 | FERE B (@ 16.33 [ baNE () 16.46 | SEC IR (2 16.41 [ H)Il HEY (2) 17.52
5l (+1.4) fEL— ATEHET fE RSN fEL—
34E100m WH ey 3) 12,47 | O BB (3) 12.99 | #Kk BHE (3) 13.28 | PEJII L (3) 13.39 | B BkEE  (3) 13.50 JNEE FE (3) 14.13
L (+0.8) KH oNEL ) iEFn ol JHIR B
34E100m SR MERR  (3) 13.76 | BB Mkl (3) 14.41 | R RO 14.67 | JIA HAE () 14.76 | K BEEE (3) 14.83 | ®AE /T (3) 15.01 | EAR - (3) 15.36
24 (0. 0) R Fn % ARTEHEE T HEEE L G|
34E100m RS 2R (3) 14.50 | /NEE B (3) 14.52 | (M 2% (3) 14.80 | BEM FLL» (3) 15.22 |/hEM —F (3) 15.77 [ZHK BiEE () 16.09
3 (+2. 1 AH k] FELL— Jl] EEe] LU
F3#200m R HmE () 27.24 | K HE  (3) 27.53 | JA BEbE (3 27.60 [ & 225 (3 29.31 | A %% (2 29.89 | ik fEBE (2) 30.96
L (+0.9) JHEIE WEFN JR ol G| fE L
F3#200m g #%E (3) 31.30 | Ak RS (2 32.74 | KW EXRAE () 33.22 | gk AL (1) 33.78 | FIJF EIEAE (2) 33.87
24 (+2.0) il — L — fE L) fE
1 4E800m JEEE RS (1) 2:29.85| BHER A (D 2:32.07| fEE FEMR (D 2:32.95[ (LA BkEE (1) 2:33.44| & FK (1) 2:45.96
1#H R Fn % E%ia JEAPErE EFn
1 42800m A = (1) 2:40.54| BB EYE (D 2:43.34 ¥ TU (D 2:51.82 A #EE (D 2:59.23] HH P (1) 3:15. 161 BHAZE (1) 3:17.70
24 HiTHHE 52 KH HHIR )| KH
1 4E800m EE AE (1) 2:38.65( M EAHE (1) 2:51.65] HH 0% (1) 2:56.71 #EH A& (1) 3:07.06] #5K I (1) 3:10.68| KM B3I (1) 3:13.13
3 fiE L gt fE HHIR fE L — fEIL
H3/800m Ot Bt (2) 2:25.10| FEL A% (3) 2:29.57| BFMH HERAS (2) 2:34.31| E#E L (2 2:37.05) FRE BAA (3) 2:39.07
1A Ei JR i EHEM ;S
H3/800m AR L (2) 2:39.77( HE RKZE (3) 2:40.09( HE ERAN (2) 2:43.80( /AR FEE (2) 2:44.35( Bh)Il &3 (2) 2:45.32 (UK FH (3) 2:46.41
24 HEMH k] JATE AL k] KM
F5H800m B OICEE (2) 2:40.97| EHE JRES (2) 2:44.07| HF EH Q) 2:44. 91| AL (2) 2:55.69| ik BAFE (2) 2:56.39 Il 3E (3) 3:03.47
3 E%iR #4dk s )1 il KM
H3/800m WA EURE (2) 2:46.66] R mesk  (2) 2:54.18] kA #4%  (2) 2:55. 77| FIFE A (2) 3:05.76] AEE & (2) 3:08.46] PEFT HiFE  (2) 3:15.28
4L ek )1 )1 AL Ll Ll




No 2

e i L oy 20 ks et PN - e Efe (WD) TR LGS
B4 3 [A TR e BB LR SR R RS Lk —ER (1) T 2R
Sf4FE6H1IA (L) KEa—FR 22 12 3305 FE TR/ B R f b H TS
61 ke E s Wit = — K 123230
A fEH 17 27 3L 47 57 6117 7L 8{ir
JL381500m HAR KR () 4:48.27| R EBE (2 5:07. 11| KIg FivErg (3) 5:14.81 L% L (2 5:18.52( AfIl BEEL (3) 5:19.00( R ZET (2) 5:24.96| K K (2) 5:52.23 AR BN (2) 5:55.99
1 i Tt i EoFaE HiHHE Ak JE Ve JHIR JE 7
4138 1500m Bl B3 (2) 5:36.04| AKF L (2) 5:36. 41| AR R (2) 5:44.08 ™Il L3E (1D 5:49.00( f3 BHFEF  (2) 5:51.56| Bl fE= (1) 5:53.70| A& ZEE  (2) 5:59.71| BpA HHR (2 6:15.69
2 %8 SR el JEEAN] ARFEET JEEANN] AFEET e )11
9) ZHM %t (3) 6:55.39
KH
Jes@ioomt (0. 762m) | B i (3) 14.16 | BB MR () 16.38 | & 2ZA (3) 16.42 NEE K (3) 16.68 | HIR GEE () 17.62 | W K (3) 18.83
L: (+1.4) KH JHIR )11 B SEE KH
JE5@100mH (0. 762m) [ PUE UV (3)  17.66 | AL FAH] (2 17.80 | HiD BSE (@) 18.83 | JIE MEAE (2 18.99 | SRk HEME (2) 18.99 | WEH HEk (@ 19.51 | AJF #AE (@) 19.97
24 (+1.5) WEFn $ER SEE KH i KH PR
J@Loomt (0. 762m) | KGA K35 (2) 18.08 | #hiK W (3) 19.96 [EEF H<V (2) 20.23 | ®E WE () 21.47
3L (+0. 8) fE L el )11 il
HL384X100mR KH 52. 07 E 52. 98 WEFn 53, 33 el 53.51 i 56. 43 ZE 57. 33
140 Zil &3 Q) [SRE- AN )} WE v (3) WA E3aE (3) MR ZE B FER] BEF] (2)
EifE () TEiE B0 (3) A mE () w) L 3) M e ) pfE s (1)
ORI 3 [LHEE WATE (3) AR MERR (3) A B N ER () HEF B Q)
TH E B A EE © B EWH (2 ZH R (2) R FE (3) AR BT (2)
FHIE4X100mR | HIEHEE 52. 23 IR 54.65 [ RHH 55. 81 o 56. 29
248 WEAE @) IR Fiz (@) A EZE (2) &L FigE (2)
e & @ WA HebE () mWH s (2 R EE @
—H 52 ©Q) FIgE 8 ) BB iz (@) & tE W
B ZE=pE (3) P MR () R 2 3) P EZARE (D
HasEEmBE  |9/ER ZF (3)  1ml5 |9 EEME () 1mlb
SEEE K H
VEEREE |94 B8 (1) 3m50 | 1042 B () 3m48 [1DFHM L0 (1) 3m47 [12)ZFM 3FEME () 3m38 [13)WH %22 (1) 3m09 |14 Rz (1)  3m05 |[15)J)114 &FF% (1) 2m96 [16) 7)1 25 (1) 2m95
JALPIN (<0.5) JIR (+1.5) -] (<0.7) PALTIN (<0.3) B (+1.3) ] (1. 1) ] 0.0) AE L (+1.4)
1)K B2 (1) 2m94 | 18)=fE iE (1 2m30
fE 0.0 sl (-0.1)
HoEEEDE |9 RM F= (2 4ml0 [10)EF BIFEM (2)  4m08 [1DHA EiE (2)  4m06 |12 F4ET (2)  3m92 [13)HA B (2 3m9l [1mm AEx (3)  3m90 [16)EH FLL (3)  3m87 |[16) MR #£% (3)  3m86
AH 0.0 FEF (+1.5) Hddk (+1.9) L) (+3.1) HEEE (-0.2) KH (+2.8) G| (+t1.4) | BIFHHEM (0.0)
IDHEM R (2 3m74 [18)#dh Fifk (2)  3m70 [19)BIED EAE (2)  3m66 |20)irfk Be3E (2)  3mb0 | 2DHEEE mifl: (2)  3m43 | 22) (Ll K (2)  3m28 |23)FHE ZE (2)  3m2l
AT (+2.0) Rl (-0.5) AN 0.0 LAl (+0.9) | AHEHE— (+2.0) X H (+1.6) ] (+0.3)
HaEfALE |9 WM BA (3 6m78 [10)iEAk fEW: (20 6m71 [1DFIL £ (3)  6m64 [12)#AK K (2)  6mb4 1)L EAE (2 6md6 [14)fH T (3)  6m24 [16)=E (AR (2)  6m23 | 16) EiE WEE (2)  6m07
(2. 721kg) i L PN i JHIR KH R IME )11
IDBEE Zk (2) 5mb4 | 1IEMIN R (2) bmb0 [19)EHE bay (1) 5m31 [200Em HME (2) 4m84 | 21) &k & (D 4m71 [22)1hH B (1) 4mbl
R Ll e )1 )| )1




